R0015321 Bench Assemble Guards and Doors

Bench assembly details for guards and doors

@ Difficulty Medium ® Duration 5 hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated
Step 2 - Paintwork quality

Step 3 - Roof Panel fit light

Step 4 - Roof panel fit beacon

Step 5 - Roof panel fit Stuga sticker
Step 6 - Front Panel Upper Fit screen
Step 7 - Front Panel Upper fit camera
Step 8 - Front Panel upper Fit Sticker
Step 9 - Rear Upper Panel Fit Camera
Step 10 - Rear upper Panel Fit sticker
Step 11 - Door assembly Fit Handles
Step 12 - Attach key to handle

Step 13 - Door Assembly Fit screens
Step 14 - Door Assembly Fit stickers

Comments

Introduction

Tools Required

Standard hex key set
Standard spanner set
Dymo label printer

Parts Required

C0001152 Camera: HikVision DS-2CD2343G0-1-2.8mm x 3

C0001239 Micro SD Card 32Gb Class 10x 3

D0007643B Perspex Glazing - Door x 4

D0007644B Machining Centre Door 1 x 2

D0007645B Machining Centre Door 2 x 2

D0007654B Perspex Glazing - Front Guard MkB x 1

H0015747 8mm diameter rod x 1 (in process of changing to DO015747 x 4)
M0000036 Sign - Ear Protection x 1

M0000201 T Handle Cabinet Lock x 2

Page 1/19



Step 1 - Unless otherwise stated

Use locktite 243 on all fasteners
Use loctite 572 on all threaded pneumatic connection
Pen mark all fasteners to show finalised

LO@CTITE.
243

THARADLOE i) SRR TSI
FREIMMLET MOGAAL / SCHADIPOAS

-\.
< i
Smil 51ag0

Step 2 - Paintwork quality

Please ensure all paintwork is inspected before assembly and any
quality issues are reported.

All paintwork must be of a good quality with no damage evident

Step 3 - Roof Panel fit light
Images show L-R configuration. Please mirror assembly for R-L

Use m5 x 10 buttons 4 off + penny washers backed with a forms and dome nuts to fit each light assembly to pre drilled holes as shown
Ensure Light connection lead travels towards tie base fixing points
Attach M4 tie bases with M4 x 6 button heads to pre drilled holes

Secure cables from lights as shown

Page 2/ 19


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/wiki/Fichier:R0008013_Clacker_assembly_quality.png

Page 3/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140240.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140247.png

Page 4/ 19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140253.png

Step 4 - Roof panel fit beacon

Images show L-R configuration. Please mirror assembly for R-L

Attached pre wired beacon as shown

Page 5/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141544.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140439.png

Page 6 /19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140345.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_140352.png

Step 5 - Roof panel fit Stuga sticker

Fit Large clear Stuga sticker to top face of roof. Position evenly between light fixing points shown
Please ensure sticker is applied using foam spray and squeegee, so no air bubbles are present once fitted

Page 7 /19


https://stuga.dokit.app/images/thumb/7/77/R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141112.png/ia-5c120f4d53db9c765f458577a0a2bd36-1000px-R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141112.png.png

Page 8/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141117.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141112.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141351.png

Step 6 - Front Panel Upper Fit screen
L-R Configuration shown . Mirror for R-L

Use M6 x 16 socket caps, M6 penny washers, M6 A Form washers and Mé nyloc nuts to fix

Page 9/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141432.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141438.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141443.png

Step 7 - Front Panel Upper fit camera

L-R Configuration shown . Mirror for R-L
Fit C0001239 Micro SD Card 32Gb Class 10 x 1 to camera before mounting

Fit camera to top guard using 3 off M4 x 12 socket caps, and back off with M4 dome nuts and M4 A form washers
Ensure camera is fitted the correct orientation. Camera will have a 'UP' marked on body. This must be at the top

Camera must be fitted to top corner of front guard closest to M_odule F saw unit

|y

-
f

.
Iz

N
\

'i“

Page 10/ 19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141451.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141458.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141506.png

Step 8 - Front Panel upper Fit Sticker

Remove 4mm off top and bottom of small stuga sticker, fit central with mé bolt

Ensure sticker is fitted wet, so no air bubbles are present once fitted

N

Page 11/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141531.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141522.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_141537.png

Step 9 - Rear Upper Panel Fit Camera

L-R Configuration shown . Mirror for R-L

Fit C0001239 Micro SD Card 32Gb Class 10 x 1 to camera before mounting
Fit camera to rear panel using 3 off M4 x 12 socket caps, and back off with M4 dome nuts and M4 A form washers

Ensure camera is fitted the correct orientation. Camera will have a 'UP' marked on body. This must be at the top

At -

Step 10 - Rear upper Panel Fit sticker

L-R Configuration shown . Mirror for R-L

Fit large Clear Stuga sticker . Ensure sticker is fitted wet to avoid air bubbles once fitted

Page 12 /19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142139.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142147.png

Step 11 - Door assembly Fit Handles

Fit door handles to doors, ensure orientated as shown, With striker facing centre of door

Ensure Loctite 243 is used on all securing nuts and Securing bolts. Remove all pre fitted bolts and add adhesive

Once tightened sufficiently check that rotation of handles are smooth
Fit 2 off door bars to each door, Adhesive is vital on locking fasteners for these rods

Ensure chauffeured end is present and orientated correctly

Page 13/19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142133.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142403.png

Page 14 /19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-11-02_082100.png
https://stuga.dokit.app/images/thumb/9/9a/R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_113020.png/ia-d46a58e183d1395a3ce979f55b2ee45b-1000px-R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_113020.png.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_113409.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_114119.png

Step 12 - Attach key to handle

Ensure handle is left unlocked and key is fitted to handle as shown

Page 15/ 19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_114146.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_121001.png

Step 13 - Door Assembly Fit screens

Fit screens to doors

Use M6 x 20 socket caps, M6 penny washers , M6 A form washers and Mé Nyloc
nuts to fix

Ensure protective wrap is only removed from edges to allow fitment of screen

Step 14 - Door Assembly Fit stickers

Fit stickers as shown
parts consumables and ambient temp stickers need cutting down by 4mm top and bottom to suit doors

Ensure all stickers are fitted wet, so no air bubbles are present once fitted

Page 16/ 19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_120743.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_120756.png

Page 17 /19


https://stuga.dokit.app/images/thumb/1/14/R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_121023.png/ia-661b5c61c3fb5f03de6597e4483e5c75-1000px-R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2023-12-18_121023.png.png
https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142901.png

\n\nmluum i l//////ﬁ
I Illlm /

A

Stuga Service

01493 742348
senaeTsU 0 Uk

Page 18 /19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142846.png

01493 742348
v Sl ok

Page 19/ 19


https://stuga.dokit.app/wiki/Fichier:R0015321_Bench_Assemble_Guards_and_Doors_Screenshot_2025-01-08_142853.png

	R0015321 Bench Assemble Guards and Doors
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Paintwork quality
	Step 3 - Roof Panel fit light
	Step 4 - Roof panel fit beacon
	Step 5 - Roof panel fit Stuga sticker
	Step 6 - Front Panel Upper Fit screen
	Step 7 - Front Panel Upper fit camera
	Step 8 - Front Panel upper Fit Sticker
	Step 9 - Rear Upper Panel Fit Camera
	Step 10 - Rear upper Panel Fit sticker
	Step 11 - Door assembly Fit Handles
	Step 12 - Attach key to handle
	Step 13 - Door Assembly Fit screens
	Step 14 - Door Assembly Fit stickers


